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AReA & VoLuME (Q 1, PAPER 2)

2009
1 (a) The area of a rectangular playing pitch is 9900 m2.
The width of the playing pitch is 90 m. T
(i) Find the length of the playing pitch. 9900 m’ 90 m
(if) Find the perimeter of the playing pitch. l

(b) The sketch shows the garden of a house. At equal intervals of 3 m along one side,
perpendicular measurements are made to the boundary, as shown on the sketch.
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(i) Use Simpson’s rule to estimate the area of the garden.

(it) The owner of the house digs an ornamental pond in the garden. The surface area
of the pond is 7 m2.
What percentage of the area of the garden is taken up by the pond?
Give your answer correct to the nearest percent.

(c) (i) The volume of a sphere is 36z cm?. e
Find the radius of the sphere. l——
(i) When the sphere is fully immersed in a cylinder of water,

the level of the water rises by 2:25 cm.
Find the radius of the cylinder.

SoLUTION

1(a)

A = 9900 m? A=lxb

b=90m P=2l+2b=2(I+b)

1 (a) (i) 1 (a) (i)

=2 P=?

|=—= =110 m

90 m

A 9900 m? P =2(I + b) = 2(110 +90) = 2(200) = 400 m
b
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2 (b) (i)
h~2[(9+4)+4(10+8+5)+2(9+7)]
~1[(13) + 4(23) + 2(16)] A~ & [(First + Last) + 4(Evens) + 2(Remaining Odds)]
~[13+92+32] /\
~137 m?
2 (b) (ii) \
Percentage Area of pond:
T 100% ~ 5%
137
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1(c) (i)
V =367 cm® SPHERE
r="?
V=4nr’=36r=~4nr’
9-1 re V=2nr
97 = 3 Curved SA: A=4rr?
3=r
1 (c) (i) (CYLINDER )
Y
N

V =rzr?h
Curved SA: A=2xrrh
Total SA: A=2rrh+2xr?

Cylinder of water:

V =367 cm®
h=2.25cm
V =7r’h = 367 = 7r?(2.25)
36
25"
16=r>

Sr=4cm

Ih —=225cm




